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SAMPLE A

What is the solution to 3(2x -1)=3?
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Directions: Type your answer in the box, Your answer must be in the form of a fraction in simplest form, Use */" for
the fraction bar,
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Your answer must be in the form of a fraction in simplest form. \)m hOUO +O o
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Which expression represents four less than half a number, #?
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Which of the following binomials is a factor of x* - x - 67
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Which expression is equivalent to %(BOJ - 24y)-=[32x -16y)? bl
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Which is equivalent to i’48 in simplest form? Ploti Plotz Plot:
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What is the value of , 128 in simplest radical form?
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Which polynomial is equivalent to this expression if n = =17
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What is the value of this expression when n = -157
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Which graph best represents the equation 4x + 5y =207 " SO[‘IQ 'PO(
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A formula to find the angle measures of an isosceles triangle is shown.

180=2x+y

JCx=90-y

JDx=90+y
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For which system of inequalities is (~3, 1) a solution?
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What is 3&3 solution to this system of equations?
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Directions: Click on the grid to plot each of the solutions. You must plot all solutions
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The graph of y =~ x? - 2x + 81is shown,

On the grid, identify each of the solutions to - x* - 2x + 8 =0,
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What value of x makes this equation true?

3r-20= 2x
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Which equation best represents line i ?
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Directions: Click and drag the answers to the correct boxes,
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Christopher incorrectly solved an inequality as shown.
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Directions: Type your answer in the box.
R@A %ﬂ A\W CRoNg meW

Solve for n:
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What values of x are solutions of 3x% +11x =207
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The graph of line / is shown.
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Which number is closest in value to the slope of line / ?
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